normalized X2

[ normalized x? probability |

1 Entries Entries 1
. . i - | Mean 0.99
: : + | Sdpev
107 oo . [Enties
. : 1 .| Mean 0.9¢
. . |Std Dev
-2k H H H H
10 . : [Entries
. . Mean 0.99
5 : : Std Dev
10°F-": v ]
107F -t e ;
. . 0.99 :I
100k
: : Enmes Entries 1
. | | Mean 0.0 Mean 0.99
o10v: J ¥y FEVTL FETT Py
= H H H H . . H H H H
© . . . . . .
4 . . . .
b R R h ] - I=- H N i-
0.95 . . . . 0.95 . . . .
0 2 4 6 8 10 12 14 16 18 20 0 010203040506070809 1
2 Prob(x2)
C—— %o m ] ¢ PU
m—— DOM”pixelCPETemplate. sn:én pt1to1000 etalp6to2p0.
w— DOQM”pixelCPETemplateCutChiSquarel0_step2_pt1to1000_etalp6to2p0
= DOM pixelCPETemplateCutChiSquarel5_step2 _pt1to1000 etalp6to2pQ
s DOM”pixelCPETemplateCutChiSquare20”step2__pt1to1000_etalp6to2p0
D pixelCPETemplateCutChiSquare30_step2 pt1to1000_etalp6to2p0
5 1
A F = 4
5 E : : : : B E : : : :
< h h A O
o o
=< <0
Vv -
So
\
0

Ratio

3
TP n (PCA to beamline)

< X2/ ndf >
PR R
o ®

i

< X2/ ndf >

Ratio

1072

1 -1
AR(track, jet?



	Contents
	Page 1


